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LB s A farmer h .
3 ad 44 pigs. (|441+ 35 )
: 'S'he bnght 35 more. l
g +35
2 e e
’ There were 33 children in o
the school hall. 54 more (\ /55 + [@Ej) R t
children came in but 42 kU
hildren Left. o
oS 7 How many children were DL
FCRA " in the hall then? 3T

Ann had 46 chestnuts.
She collected 32 more.
She then gave 25 chestnuts

had she left then?

to Bill. How many chestnuts
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A baker baked 39 buns.
He then baked 57 more buns.
_jf he then sold 43 bms,

| 39 |+

5‘%




»oblem solving + and —
Proble g o

1. John had 36 sweets. | ¢ | u "5. Mary bought Y,r:r
He bought 27 more. | 47 stamps- She | 3
How many sweets ’5 b ﬂ O}f thlerrl,]kt)o many~ | /Z,,,L_-
had he altoget -1 9 ichae 9
b altogether + ’é‘ ; stamps had she left: B’ L_é_

///;”/j_::-
15Q -seld 23 apples 4. A shopkeeperl sol ’___t___‘j__,_
Vic | 17 cans of cola, :?___
| 2D 34 cans of orang€ _L 13
ne 25 cans.of 2 |4
511 lemonade. How many ) 5
A Y cans altogether did 1| =i=+
G| § || shesell? 7161

5. Sarah had 40 teddybears.
Her friends gave her 18 for
her birthday. She then gave 22
to the hospital for s;ck chlldren
How many had she le AT




Find 17 on the numher line

1.( 38 js more than
- 38is less than

38 is between

17 is more than | = £ e |




60

n the number Line:
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50!

2. 54 is between @ and
54 is nearer to ..
54 r@u:_ndiss to .




Estimate and add

25 il vy between| 0 [and] O ])(
25 ds upio {‘j‘

5 always rounds up.

55 rounds up to

Round each number to the nearest 10.
Estimate your answer first. Then find the correct answer to the sum.

Compare the answer with your estimate.
a b C

1. 45 rounds to 50 36 rounds to | (L0

+ 29 rounds to | 3V | | + 25 rounds to 30 +15 P il
1 1 e —
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?— Estimate and subtract

49 rounc;
31 My estimate 1

Round each number to the nearest 10.
Estimate your answer.
Find the correct answer to the sum.

Compare the answer with your estimate. I
a b

'}, 1. 29 rounds to lgd 57 rounds to A6 » ST

| — 18 rounds to RU | | — 13 rounds to +/35




